
NUMBERS UPTO TEN THOUSAND

3rd grade

MATHEMATICS



How we write How we read

9998  +  1  =  9999 nine thousand nine hundred 

ninety-nine



EXERCISE 1.1 

1. Write the numerals of each of the following :

(a) Six thousand five hundred twelve =

(b) Eight thousand four hundred five =

(c) Two thousand nine hundred eight =

(d) Nine thousand eight hundred thirty-five   =

(e) Five thousand nine hundred eighty-nine  =

6512



2.  Write the number names of the following :

(a) 2380   =

(b) 3405   =

(c) 8261   =

(d) 9220   =

(e) 8009   =

Two thousand three hundred eighty



(f) 3708   =

(g) 5610  =

(h) 6820  =

(i) 5016   =

(j) 9900   =



EXERCISE 1.2 

1. Read the abacus and write the numeral and      
number name :

3203

Three thousand 
two hundred three









2. Write the numeral of each of the following :

(a) 6 thousands 5 hundreds 2 tens 7 ones

(b) 9 thousands 3 hundreds 1 ten

(c) 2 thousands 3 hundreds 9 tens 2 ones

(d) 3 thousands 2 hundreds

(e) 5 thousands 9 hundreds

Th H T O
6 5 2 7



3. Fill in the boxes with the missing digits :

(a) 2380 =         Thousands          hundreds         tens          ones 

(b) 3405 =         Thousands          hundreds         tens          ones 

(c) 8261 =         Thousands          hundreds         tens          ones

(d) 3009 =         Thousands          hundreds         tens          ones 

(e) 2598 =         Thousands          hundreds         tens          ones

(f) 5840  =         Thousands          hundreds         tens          ones



4. Write the numerals in the ascending order :

(a) from 3110 to 3115 = 3110, 3111, 3112, 3113, 3114, 3115

(b) from 7235 to 7241 = ………, ………, ………, ………, ………, ………

(c) from 8698 to 8703 = ……….,……….,………..,………..,………,……….



5. Write the smallest :

(a) 2-digit number.

(b) 3-digit number.

(c) 4-digit number.



EXERCISE 1.3

1. Multiple Choice Questions (MCQ) Choose the correct option.

(i) The place value of 7 in 3672 is

(a) 70 (b) 7 (c) 700

(ii) The place value of 8 in 8341 is

(a) 8000 (b) 800 (c) 80



1.  Multiple Choice Questions (MCQ) Choose the correct option.

(iii) The place value of 5 in 2520 is

(a) 50 (b) 500 (c) 5000 

(iv) The place value of 9 in 3900 is

(a) 9 (b) 90 (c) 900



2. Write the place value of 6 in 2362. 



3. Write the place value of 3 in 2348.



4. Write the place value of 2 in 3286.



5. Write the place value of 0 in 3045.



6. Write the place value of 3 in 2530. 



7. Write the place value of 4 in 4350.



8. Write the place value of 7 in 3725. 



9. Write in the expanded form :

(a) 4318 

= 4 thousands + 3 hundreds + 1 ten + 8 ones

= 4000 + 300 + 10 + 8

(b)   4525

=         thousands + hundreds + tens +        ones

= ……….………..+………………….+………….+…………...         



(c) 6287

=        thousands +       hundreds +        tens +       ones 

= ……….………..+………………….+………….+…………...         



10. Put a box around the correct numeral. The first has 

been done for you :

(a) 4 thousands 6 tens 6 ones 

4660 4606 6604 4066

(b) 7 thousands 8 ones

7800 7008 8007 7080



10. Put a box around the correct numeral. The first has 

been done for you :

(c) 6 thousands 6 tens 

6600 606 660 6060

(d) 5 thousands 8 ones 

5800 580 5008 580



10. Put a box around the correct numeral. The first has 

been done for you :

(e) 9 thousands 6 ones 

9600 9060 960 9006



Exercise 1.4

1. Put  >  ,  <  or  =  in the box to make the statement true :
(a) 8438         9254 (b) 6258        2598 

(c) 4567        234 (d) 5678        8321 

(e) 4684        4684 (f)  3257        8243 

(g) 4789        9786 (h) 6786        6786 

(i) 327 + 844 945 + 317 

(j) 954 + 46 999



2 .  W r i t e  t h e  s u c c e s s o r  o f  e a c h  o f  t h e  

f o l l ow i n g  n u m b e r s  :

( a ) 3 6 4 4

( b )  9 9 9

( c )  9 8 9 9

( d )  4 5 0 0



3. Write the predecessor of each of the following 
numbers :
( a ) 4 4 0 0

( b )  7 8 8 4

( c )  5 6 7 6  

( d )  9 5 6 7



4. Rewrite the following numbers in descending 
(decreasing) order :

Example : The decreasing order of 

1445, 936, 3848, 1560, 2673, 5607

= 5607, 3848, 2673, 1560, 1445, 936



4. Rewrite the following numbers in descending 
(decreasing) order :

(a) 7219, 4256, 7291, 9721, 4578, 9271 



4. Rewrite the following numbers in descending 
(decreasing) order :

(b) 5673, 6573, 6537, 7365, 7563, 6628



4. Rewrite the following numbers in descending 
(decreasing) order :

(c) 8974, 8947, 9874, 8544, 9478, 9996



4. Rewrite the following numbers in descending 
(decreasing) order :

(d) 3468, 3486, 3864, 3846, 6384, 6348



5. Find the successor of the largest 2-digit 
number. Is it the smallest 3-digit number ?



6. Find the successor of the largest 3-digit 
number. Is it the smallest 4-digit number ?
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